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2018
ECONOMICS — HONOURS
Fifth Paper
(Group - B)

Full Marks - 50

Candidates are required to give their answers in their own words as far as practicable
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The figures in the margin indicate full marks

Section - A
( Marks - 20)
Answer any five questions

|. Why is a public sector required in an economy?
2. What are club goods? What are its features?

3. What do you mean by 'leakage’ in the context of a grant? How is it
linked with the efficiency of various forms of grant?

4. What is meant by merit goods? Do you think that such goods should be
provided by the government? -

5. Differentiate between revenue account and capital account of a budget.
6. What are the canons of taxation?
7. What are the factors on which an appropriate tax formula depends?

8. What are the possible ways in which budget deficit can be financed?
Mention any one problem that may arise out of deficit financing.

Section — B
( Marks - 30)
Answer any five questions

9. Briefly describe main economic functions of the Government.

10. How is efficient provision of public goods determined in a world
consisting of one public good and one private good?

11. What is a mixed good? "Mixed goods generate external benefit or costs
and call for correction by subsidies or taxes” — Explain and prove this argument.

12. What is balanced budget multiplier? Mention two situations when its
value is not equal to 1.

13. Which of the two, income or consumption, is a better choice as the base
of personal taxation? Argue in favour of your answer.

14. What are the effects of income tax on risk-taking?

15. Does an indirect tax involve any excess burden as compared to a direct
tax? Give reasons for your answer.

16. "There is no difference between the burden of an internal debt and that
of an external debt". Do you agree with this statement? Give arguments in favour
of your answer.
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